Name: - _ Class:701/702/703 Date:

Expressions and Equations Test

-Directions: Part 1. You do not get a calculator for these questions.

The label on a 1-%—-pound bag of wildflower seeds states that it will cover an area of

375 square feet. Based on this information, what is the number of square feet that

1 pound of wildflower seeds will cover?

A =
B 250

1
C s6zq

D 750

| The Lions won 16 games last year. This year the Lions won 20 games. What is the
percent increase in the number of games the Lions won from last year to this year?

A 20%

18 25%
C  80%
D

125%




The table shows prices for shoe rental, games, and snacks at the bowling alley.

BOWLING ALLEY PRICES
itsm Price
" 'Shae rental - $2?5
One game of bowling - : $2.50
Smallsoda $0.95
] Larg-é soda  $1.56
Nachos _ $1.75

Gina rented .éhaas, bowled 3 gameﬁ, and baught 1 order of nachos. She used a coupon

| for -% off the price of her bowling games. What was Gina's total cost before tax was

added?

.A $5.75
B %600
C 38325
B $200

Scientists detemti_ned that Antarctica’s average winter tem‘peramre was —34.44°C. The
difference between this temperature and Antarctica’s highest recorded temperature
was 48.44 degrees. What was Antarctica’s highest recorded temperature?

A —83.88°C
{B -15%C

C 15°C
| D s388C

Addison wants to ride her bicycle more than 80 riles this week, She has already ridden.
her bicycle 18 miles. Which ineguality could be used o détermine the mean number
of miles, i, she would need to ride her bicyele each day for six more- days to athieve
her goal?

A 6m+ 18 < B0
B 6m=~18 <80
- C ém+18 >80
D 6m- 18 > 80



The perimeter crf a certam pentagon is 10,5 centimeters. Four sides of this
pentagon have the same Jength, in. centzmeters B, and the other side has a fength ef
1.7 centimeters, as shown' below.

17am

What is the value 6f A?

A 22

B 37 |

C 48

D 838

A traaler will be wised ta transport several 40-kilogram crates to a store. The

greatest amount of weight that can be loaded -onto the trailer is 1,050 kilograms. An

82-kilogram crate-has aleady: been loaded onte the trailer. What is the greatest
number of 40- ki!ogram crates that can al§o be lvaded onto the tra:faﬁ'

A 24
B 25

C 2
D 27



Name: _ Class:701/702/703  Date:

Directions: In order to receive full credit on the free response questions you need to write and solve an
equation or an inequality if the question requires it. You can use a calculator on this part. However, make sure
you show your work for the multiple choice. '

What is the radius, in centimeters, of a crdle that has a circumference of
167 centimeters?

A B

E 18
C 32
B &

M!ke took & taxi from his home to the alrport, The tadi. dﬂver charged an sn;tiai fee ef
$6 plus $3 per mite. The total fare was $24; not inciudmg the tip. How many m:l&s did
Mike travel by faxi o this ride?

A 2

B 6

C 8 _

o 0

The arlglnai salling price of a share of stock was o dellars. The' $Eﬂlng price for a share

of the same stock at.a later date was represented by the expression 1.15(0.95d); “Which
desmptzon could’ expiaEn what happened to the ‘price c»f the share of steck?

A The pricé d_e_':;reased‘ by 5% and then tmcreased by 045%.

B The price decreased by 95% and then increased by 0.45%.

C The price ﬁéﬁreaséd by 5% and then increased by 15%.

D The_ price decréasé#' by '95%' and tﬁen ricreased by 15%

Lahce bought n notebooks that cost $0.75 sach and p pens that cost $0.55- ea:h A :
£.25% sales tax will bie applied to the total cost Whuch expressmn represents “the total
arnount: Lam:e paid, mcludmg tax?

A 0.0825{(rm + p)+ 0. %25({1 750 + {155p)

B {0780+ ﬂﬁﬁp} + 0. 0525{0 ?55 + D 55p}

€. 0.78(0; Bﬁaﬁn} + 0, 55{6 93251?)

D 0.75( .GEESR_.} + 0.55(1 0625m)



When Keisha installed & fence a!ong the 20000t petimeter of her rectangular back
yard, she left an opening for a gate. In the diagram below, she used x to represent the‘
length; in feat, of the gatg.

‘Back Yard

-

What is the value ofx?

- A 10

g 20
C %
D 30



Free Response

Directions: For questions 1,2, and 4 you must write and solve an equation. For question 3 you have to also
graph your solution.

The coach for a hasketball team wants to buy new shoes for her 12 players.

Super Sports is offering 2 20% discount on each pair of shoes, which were originally
priced $72.50. A 6.5% sales tax will be applied to the discounted price.

The same shoes are alsa availabla an Double Brihhze’s web sita for 554.?5. A
9% processing fee will be applied to the cost of the shoes, plus & shipping fee of
$5.99 for each pair. ' '

what Is the difference in the total costs of the 12 pairs of shoes between the fwo |
stores?

Show your work.



Members of a baseball team raised $967.50 to go fc; & tournament, They rented a bus
for $450.00 and budgeted $28.75 per player for meals. They will spend all the money
they raised. -

Write and solve an equation that models this situation and could be used to determine
the number of players, p, the team could bring to the tournament.

Show your work.



Harper has $15.00 to spend at the gmx:efy store. She is going to buy bags of fruit that
cost $4.75 each and ane bmt of vrackers that costs $3.50.

Write and solve an mequalsty that madals this situation and could be used to determine -
the maximum number of bags of frult, b, Harper can huy.

Show your work.



Ms. Hernandez has $100 to spend on parking and admission to the zou, The parking

will cost $7, and admission titkets will cost $15.50 per person, inclyding tax. Write and

-~ solve an equation that can be-used to determine thenumber of paople that she can
bring to the 200, including herself, ' LT

Show your work..



A contractor is building the base of a cm:ular feuntain Oh the btueprin’s the: base of
the fountain has a diameter of 18 centimeters. The b[uepﬂnt has & stale of thrse -

centimeters to four feat. What will he the actual area of-the base of the Toustain,
square fest after it is built? Round your @nswer o the nearest temh af &8 square ‘foot,.



The lines graphed bealow show the afounts of water in two tanks as they were being
filled over time. '

% TANK FILLING RATES
1,800 |t -
1,600 :
14001 —t

Lz L
1.9!}3: - Tank "A# ol

400 = Tank 8

e 65 1 15 . 2
Time {minutes)

- Amount of Water (gallons)

For each tank, explain whether or not there is a proportional relationship between
the amount of watdr, iin-gallohs, and the tire, in ‘mintites. If there is a propottional
relatioviship, identify. the unit rate. Use specific Teatures of the graph to suppeort
your answer: _ _







